
AWL29-750BL1
 

WWW.NEOMOUNTS.COM

INSTRUCTION MANUAL

IT

EN 

NL 

DE 

FR 

 

ES 

PT 

DK 

Soundbar mount 

Soundbar steun

Soundbar Halterung

Support pour barre de son

Supporto per soundbar

Soporte para barra de sonido

Suporte para barra de som

Soundbar beslag

NO 

SE 

FI 

PL 

CS 

SK 

RO 

Feste til lydplanke

Soundbar-fäste

Soundbar-kiinnike

Uchwyt do soundbara

Držák soundbaru

Držiak na vodorovný reproduktor

Suport bară de sunet 

42mm

1044mm
min92mm~max1000mm

55
0m

m
90

m
m

56
m

mm
in

50
m

m
~m

ax
40

0m
m

min200mm~max600mm

44mm

81mm

Ø40mm



PARTS

AWL29-750BL1

A. (x1)

H. (x2) J. (x1)

B. (x2) C. (x2) D. (x1) E. (x1)

M-F. (x2)

F. M6
(x8)

G. M8
(x2)

M-A. M4x16
(x2)

I. M8x18
(x2)

K. 5mm
(x1)

M-B. M5x16
(x2)

M-C. M6x16
(x4)

M-D. M8x20
(x2)

M-E. M6x12
(x2)

Tool Drill

Measure the distance X between the 2 mounting plates, 
as shown
Meet de afstand X tussen de 2 montageplaten, zoals 
afgebeeld
Messen Sie den Abstand X zwischen den 2 Montage-
platten wie abgebildet
Mesurez la distance X entre les plaques de montage, 
comme indiqué
Misurare la distanza X tra le piastre di montaggio, come 
mostrato
Mida la distancia X entre las placas de montaje, como se 
muestra
Meça a distância X entre as placas de montagem, 
conforme mostrado
Zmierz odległość X między płytami montażowymi, jak 
pokazano na rysunku

EN

NL

DE

FR

IT

ES

PT

PL

Attach the horizontal bracket to the mounting plates 
(X<Y)
Bevestig de horizontale steun op de montageplaten 
(X<Y)
Befestigen Sie die horizontale Halterung an den 
Montageplatten (X<Y)
Fixez le support horizontal aux plaques de montage 
(X<Y)
Fissare la staffa orizzontale alle piastre di montaggio 
(X<Y)
Fije el soporte horizontal a las placas de montaje (X<Y)
Anexe o suporte horizontal às placas de montagem 
(X<Y)
Przymocuj uchwyt poziomy do płyt montażowych 
(X<Y)

EN

NL

DE

FR

IT

ES
PT

PL

STEP 1

X

X<Y

STEP 2 A

Y

A

or

H

J

F

0-10 kg |
0-22 lbs

0-4,2 cm



X>Y
Y

Attach the horizontal bracket to the mounting plates 
(X>Y)
Bevestig de horizontale steun op de montageplaten 
(X>Y)
Befestigen Sie die horizontale Halterung an den 
Montageplatten (X>Y)
Fixez le support horizontal aux plaques de montage 
(X>Y)
Fissare la staffa orizzontale alle piastre di montaggio 
(X>Y)
Fije el soporte horizontal a las placas de montaje (X>Y)
Anexe o suporte horizontal às placas de montagem 
(X>Y)
Przymocuj uchwyt poziomy do płyt montażowych (X>Y)

EN

NL

DE

FR

IT

ES
PT

PL

Attach the adapter brackets to the horizontal bracket
Bevestig de adaptersteunen aan de horizontale steun
Befestigen Sie die Adapter an der horizontalen 
Halterung
Fixez les supports de l'adaptateur au support horizontal
Fissare le staffe dell'adattatore alla staffa orizzontale
Fije los soportes del adaptador al soporte horizontal
Anexe os suportes do adaptador ao suporte horizontal
Przymocuj  ramiona uchwytu do uchwytu poziomego

EN
NL
DE

FR
IT
ES
PT
PL

STEP 3

STEP 2 B

or

H
D

F

J

vesa 200
vesa 300
vesa 400
vesa 500
vesa 600

G

I
K

42mm



Attach the soundbar to the horizontal bracket 
Bevestig de soundbar aan de horizontale steun
Befestigen Sie die Soundbar an der horizontalen 
Halterung
Fixez la barre de son au support horizontal
Fissare la soundbar alla staffa orizzontale
Conecte la barra de sonido al soporte horizontal
Anexe a barra de som ao suporte horizontal
Przymocuj soundbar do uchwytu poziomego

EN
NL
DE

FR
IT
ES
PT
PL

Attach the soundbar to the horizontal bracket 
Bevestig de soundbar aan de horizontale steun
Befestigen Sie die Soundbar an der horizontalen 
Halterung
Fixez la barre de son au support horizontal
Fissare la soundbar alla staffa orizzontale
Conecte la barra de sonido al soporte horizontal
Anexe a barra de som ao suporte horizontal
Przymocuj soundbar do uchwytu poziomego

EN
NL
DE

FR
IT
ES
PT
PL

STEP 4 A

STEP 4 B

H

M-A

M-B

M-C

H

M-E

M-F

* Not Included



Attach the soundbar bracket to the TV
Bevestig de soundbarsteun aan de TV
Befestigen Sie die Soundbar-Halterung am Fernseher
Fixez le support de la barre de son au téléviseur
Fissare la staffa della soundbar al televisore
Fije el soporte de la barra de sonido al televisor
Conecte o suporte da barra de som à TV
Przymocuj uchwyt soundbara do telewizora

EN
NL
DE
FR
IT
ES
PT
PL

Attach the soundbar bracket to the TV
Bevestig de soundbarsteun aan de TV
Befestigen Sie die Soundbar-Halterung am Fernseher
Fixez le support de la barre de son au téléviseur
Fissare la staffa della soundbar al televisore
Fije el soporte de la barra de sonido al televisor
Conecte o suporte da barra de som à TV
Przymocuj uchwyt soundbara do telewizora

EN
NL
DE
FR
IT
ES
PT
PL

STEP 5 A TV STAND

STEP 5 B-1 TV MOUNT

M-C

M-D

Note: No extra screws are included for installation to the TV mount. 
These screws should come with the TV mount.

* Not Included

* Not Included

C



Attach TV with soundbar bracket to the TV mount
Bevestig de TV met soundbarsteun aan de TV steun
Befestigen Sie den Fernseher mit der Soundbar-
Halterung an der TV-Halterung
Fixez le téléviseur avec le support de barre de son au 
support du téléviseur
Fissare la TV con la staffa della soundbar al supporto TV
Fije el televisor con el soporte de la barra de sonido al 
soporte del televisor
Conecte a TV com suporte da barra de som ao suporte 
da TV
Przymocuj telewizor z uchwytem soundbara do uchwytu 
telewizora

EN
NL
DE

FR

IT
ES

PT

PL

TV MOUNTSTEP 5 B-2

or






